Name :

Number of Questions : 40

1. Look at the numbers in this box.

Which of the following istrue about

the numbers in the bex?

(a) They are all greater than 50.
(b) They are allibetween 10 and 4

100.
(c) They are 3l less than 90.
(d) They are all less than 95.

@ 987 ro’tmded off to nearest hundred

gives
(a) 900 (b) 990

(c) 980 1000

3. Leok at the number line below.

What number replaces questibn

mark on it?
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15 25 ? 385 45
(a) 20 (b) 26
(c) 30 (d) 34

What number replaces question

mark in the following?

Before | Between | After
80849 ? 80851

(a) 80800 (b) 80850
(c) 80900 (d) 80949
























MOCK TEST-3

(b) 9

(d) 17 (d) 25 (b) 33 (e)
2 (d) 10 (b) 18 (b) 26 (a) 34 (b)
3 (c) 11 (d) 19 (d) 27 (a) 35 (e)
4 (b) 12 (d) 20 (e) 28 (c) 36 (b)
5 (b) 13 (d) 21 (d) 29 (a) 87 (b)
6 (d) 14 (¢) 22 (c) 30 (c) 38 (b)
7 (b) 15 (b) 23 (c) 31 (b) 39 (c)
8 (a) 16 (e) 24 (e) 32 (a) 40 (b)
1. (b) The given numbers in the box 10. (b) 372 rounds upto 400
are all between 10 and 100. 313 rounds down to 300
2. (d) 987 rounded off to nearest 100 Estimated sum
is 1000. =400 + 300 = 700
L AT T T IR 11, (d) 985 x 8 = 7880
4. (b) 80850 comes between 80849 = 7000 + 800 + 80
and 80851. 12. (d) 275 x 8
5. (b)300-198 =102 — 9900
6. (d)XXXIX=30+9=39 = 929 + 100
ns = 5060
7. (b) 5 thousands.+ 6'tens = 50 13. (d) 52037 m/ = 52000 m¢ + 37m#
Now, 5060 -4 = 5056
_ = 52¢ 3Tm/
8. (a) There-are 12 balloons in the
e 14. (c) When 497 is divided by 9.
The number sentence is 9) 127(55
3+3+3+3=12 17
5
9. (d) Number of alphabets = 26 T

Number of vowels = 5
Number of consonants
=26-5=21

Fraction of consonants =

21

26

15

Thus, the remainder is 2.

L (b)%of18=6




Each friend will get = %f— =46
_ e B
1
=04 -
+5
e
5]

18. (b) Total parts = 12
Shaded parts = 5
Fractional part of the design is

G
12

19. (d) The cost of each stamp =35.15
The cost of 40 stamps
=% 5.15 x 40 =% 206

210

i R

21. (d) Six‘thousand eight hundred
two rupees =I6802.

22. (¢) (A)—>4,(B)—>1,(C)—>2,(D) >3
(A) 5 hours 20 minutes
= (5 x 60) minutes + 20 min.
= 300 + 20 = 320 minutes

(B) 3 minutes 40 seconds

20. (¢) Number.of weeks = 30

= (3 x 60) minutes + 40 seconds

= 180 + 40 = 220 seconds

Hints & Explanationg
(C) 2 years = 2 x 365 = 730 days

(D) 9 months =9 x 30 = 270 days
(¢) Rani starts studies at 5: 30 p.m.
Rani finishes at 7 p.m.
She studies = 7 p.m. —5:30 p.m.
= 1 hour 30 minu-tés |
She studies for 1 hour 30 minutes.
(¢) Quarter past4 =4:15
Halfpast4=4:30

Timewill be taken from quarter
past 4 to be half past 4

=4:30-4:15 =15 minutes.

25. (b) Raj runs 2 minutes more on
everyday from previous day. So, he
would have been running on the
tenth day = 14 + 2 (fourth day) + 2
(fifth day) + 2 (sixth day) + 2
(seventh day) + 2 (eight day) + 2
(ninth day) + 2 (tenth day) = 28

minutes.
26.
217.

(a) 1980

(a) Balance is used to measure the
weight of a rock.

28. (c¢) "1 hand = 4 inches
.. 14 hands = 14 x 4 = 56 inches.






